[image: image3.png]


4


RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


BN1SD
Benelli TRE-K 899 ´09- /1130 ´07-
	Poz.
	Popis
	Kat.číslo
	Počet

	1
	SLD adapter
	537
	1

	2
	Bolt M12x125x1,25mm
	952
	1

	3
	Dural. roller d=55mm
	23
	1

	4
	Dural. roller d=30mm
	171
	1

	5
	Bolt M8x25
	815
	2

	6
	Washer M8
	800
	2


	Poz.
	Popis
	Kat.číslo
	Počet

	1
	SLD adapter
	537
	1

	2
	Bolt M12x125x1,25mm
	952
	1

	3
	Dural. roller d=22m
	24
	1

	4
	Bolt (to frame)
	489
	1

	5
	Dural. roller d=30mm
	171
	1

	6
	Bolt M8x25
	815
	2

	7
	Washer M8
	800
	2


Mounting kit left side:



Mounting kit right side:
Mounting instructions, left side:
Proceed with mounting the crash frames following instructions on attached pictures. 
Slip the SLD adapter (ID.1), dural. roller (ID.4)(ID. 5 for right side) onto both bolts. Then, insert the dural. roller (ID.3) onto left side and tighten with bolt (ID.2). Finish mounting one side first before moving to another.

Mounting instructions, right side:
First, deinstall the original bolt from frame. Insert the hollow bolt (ID.4) into frame. When you notice that the bolt is leaning against engine, slightly tighten (this bolt functions only as a spacer to determine clearance). Then, insert the dural. roller (ID.3) into frame and tighten with bolt (ID.2) already fitted with another dural. roller (ID.6). 

Note - For threads of all screws, we recommend using a medium strength (blue) glue.

[image: image1.jpg]


[image: image2.png]



1

